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1. Which is incorrect? 6. If £6=48° then...
A) «L1=43 R) £5=132°
E) £2=x4 S) Z£2=48°
0) ZLl1=48 T) £3=48°
. U) Ll=4X5 N) £4=48°
2. Which is incorrect? 7 If Z4=739°then. ..
A) £2=/46 R) «£6=141°
E) Z£3=/4£6 S) Z5=141°
) L= T) 1 =is supplementary to Z4

O) £6 is supplementary to 21
3. Which is incorrect?

L) 8 is supplementary to £7

M) £L2=/8

N) «L6=/J7

T) Z3 is supplementary to £4
4. Which is incorrect?

R) L=J17
Sy ZL3=/1L7
N) Z4=/18

T) £S5 is supplementary to £6
5. If £1 =120°then...

R) «7=120°
S) «£6=120°
T) Z£2=60°
N) Z4=60

N) Z£2is vertical to L4

8. Which is incorrect?
M) Z5 is vertical to P
D) 1 is vertical to £3
Y) «£8is complementary to 25
E) £6 is supplementary to £7

9. Which is incorrect?
A) £6and £8 are vertical angles
E) 3 and £5 are alternate interior angles
I) Z5and £6 are vertical angles
O) «£4 and £6 are alternate interior angles

10. Which is incorrect?
E) «3 and £7 are corresponding angles
F) «3 and £6 are alternate interior angles
G) 5 and £1 are corresponding angles
H) 45+ £2=180°

. Question: What professional football team is the square of a prime number?

0 1 4 6 8

5 9 3 2 171 5



